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Unit 7 — Quiz Review (Days 1 — 3) @)
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The graph of a function, £, which consists of three line segments and a semi-circle is pictured

above. Let g(x)= f S (@)dt . Use this information to answer questions 1 — 4.

1. Compute the values of g(-5) and g Lvea

g5 = 7 FRdd - S fdr = - Eﬁ(%} 3 () |
= ‘LD_& :i_‘i:@ )
g(D)= S. Fdt= (W (thm[m ] 2D - 5O = 3+H‘>‘ +
2. Findg'(2)and g"(2). Show or explain your work. | [a-2m -\-;5{ /g |
gM=F00 = 9" =W Hemm y;
0/ (&)= R(B) = m () = L) ;

wndefivred vle 00 nas
O CUSP O X=2

3. Find the coordinates of the abs mof g on the closed mterva Justify your

answer.
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5. If Y = x—- and f(O) 2, find the particular solution to the differential equation.
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